| ’ %}ﬁ%/ﬁ‘
: By REI002 5 EE 548 4 2k m -
18 - @RE [9E 4E L] ;

2011 B ETERGAE - MESHES - B 5 1> 2 SEAES > 1
BEE=S

1 BREIREFER AR AE T T EE TG ER T - BEGEEARE)
B H -4k IS-LM-BP REDHTH B A) RS T B)BP ## Ff C)
HIE EF D)E G asE T ,

2. FIEBEOTE - WA RS S SR R ERE » TlRBURF Ay
B ? AZME B)EFE O) S REGTE R M D)ginE R8T

3. B ARSI AR ISR 5 HIE S By
R HABERERE ORESSE BERPCREMNETR DREREEE
E@Ebﬁﬁ’ﬁﬁﬁﬁﬁmﬁﬁ

4. FER 2008 FEE FIEREEE 5000 2% » 2009 FYME FERRANE TR -
FHEE ARAETESRE H s BYB THrE R 2R O)
PHEEH] DYESEHE IR

S. RRAEFEERE P=1 » HEHEER 1000 4 - FATEMREEBAES I8 100
{8 » BUIS-LM-AS-AD ZERE537 » o Bl dussypamsa. EHFEERE A)LM
#REL 100 BRI AR B)AD .00 100 SR ERA TR C)AS %211 100 (&g
EMAETR D)AS LL 0.1 IBEE i

6. HX—fi IS-LM-BP 1% - [EEABE AL - BRSE, » —BIR R EEERE
BERMH » SRS » BlEam s AR ARBBERS B)
B GBERD ORETHIRD DB

7. T EEIREAL B R OSISIS (TR e ¢ AFEEREEB) &
HI% C) g¥ D)=

Y=f(L,K),5F /L >0,6% /7 <0
L = LW | P),dl |d(W | P) > 0

L= I/ P),dLl 1d(W 1 P) <0

M =kPY

I =S(rY),d /& <0,8/4 >0,

8. ERTRINETEMSREMER - FIIMESE? AT AELE
FERAAEE By O A R BRI A Bn e - o E S e
L BEEMETHMER)] OB ARSI RS SREBR - STEED
THAMRERRRE D) R R s E T o

9. —H NNP AR SIEFHAETA » FOUTETRERER ? AR
i B)RIE O)E R DY )k ARz

10 MW RIREERE » FIUTERRRERE ? ABRRYIRKEFEEERG
(6K - FIR T RBSTHIRA BBy Bk e B S AR R (Pigou
effect) - RIERD OVBRYIEAREMER 58048 T D) S E L H
ERmRIEm - SR LA BETHRD

T EREFREF - WEATE T - WE ERES N RSERTiehT
FUFIERF IR 7 AWEEHE BWETR Oy &R D) B



# B

' # B %
BIFLKREIREEA LR ALK AAE }
sl [t 28131 ) .

12. 5 —REATIETRREFAREEEN  KREHOSEETERE 20 (3%
TG FREHEISRZER 30 (B355T - REFRTARERESARS 1 BT » I ERK
A EEREENEREB T HR AEGHE30E BEGHE11{E O
RERYZ IR DFEZYE 108 SRIIREZ 1{2E) EHYE 108 &
BRI 145

13. MREEERT ? AR IR FHEESRIRRT BYE BT HEKHEIRA T OFS
INF-EEEA BUR T D)BIREBCT R F R BUR T E)I BURFELIATIRE

14. —f IS-LM BRAEERRERR KR -

Y=C+I+G, C=C,+pY, I=I,-pr,M/P=L,+gY -, B.p,dsps>0,
FEIERIRIMEEHSIRC T » T EEREBUN ZHHERAT/RRERE 7 A)
O BEK B) BB/ C) g BEA D) L K

15. FE—J# AS-AD #5#Ith » R TEEF(EYHEREE) - LEFTREP - MPL >
AS BIERIER » EoiiER LRI - AYE FRSERREALY B) WE LR
BREftie A O & LESSSHIHGRATE DS EIEE EEEYHE £
RIS TERMSEIRRR AR |

16. HEFEAFIEE—ESS  EOER 500 & - E(E 1000 & - HEPEREHAR
BAEE > BREM 2005 - IAFEETAT &G HHEERIL 100
B BBl A FIEREEE R A R WEL L 800 B - AR FEEEE
B8] GDP FUERILES A)500 & B)700 2 C)800 15 D)2 800 25




¥
NIV
s

B A21004 £ A8 3243 & H AL

#E opmle [ 2mEtgr]

o)
~J
>m

AN

FoHr—SR2(AREHRY)  HEML 10 e > B— 75 %0 # 50
T BBEFGBE TR EELELEI Y F LY 7 FHEANRBHEER &
RAERBR 2" F 0" EHHEBE - 4o : £ —18 ERNEEE BY+h

HHZER

1.

2.

4.

As the wage rate rises, the quantity of labor supply will reduce rather than
increase. This phenomenon is resulted from the (1) effect.
Assume that a consumer has an utility function of the form u(w)=-e", where

w is the wealth. Please answer the following sub-questions:
i. Please find the Arrow-Pratt coefficient of absolute risk aversion

R, (w)=(2) and the Arrow-Pratt coefficient of relative risk
aversion R, (w)=(3) |
ii. As his wealth increases, the R, (w) will (4)
decrease or be unchanged)
Assume that there are two persons A and B in economy, and their utilities are
U*=X%Y% and U" = X#7% respectively. In the beginning, A only has 10
units of X and B only has 20 units of Y. Please answer the following

. (increase,

sub-questions:

1. Under the market equilibrium, the equilibrium relative price (1;—*} =
4

(53] :
ii. If the endowment of A is changed into 20 units of X, then A will

consumer (6) units of Y in the equilibrium. And, B will

consumer (7) units of Y in the equilibrium. Then, please

decide whether the welfares of both A and B will increase or not. (Yes or

No) (8)

Consider the following game:

Player B

BI B2

Al

Pléyer A

A:5 B:10

A:3,B:5

A2 A:2,B:5

A:l,B:2

A3 A:1,B:8

A:0,B:6

A4 A:5,B:9

A 3,B: 8

Please find the dominant strategy equilibrium (9)

equilibrium (10)

and Nash




